&Y Yy — a7
fﬁ]&ﬁj — T Gl 6 R

—MRI—R—

ot

% BB 2L Z or

LSl Ssa—X 5,400H
B, 100 g TR 5 XA BR. 22t .
FHF— b

& i) fEHEE 6,600H
<< A4 v EBREFLEIYL TEPRPE or Leilel

HISESHE, RE4 100 g, FER. BIZHE L,
HENZ IR EA, R, 22 B 7F -+

& TREEA 2 —X 6,800H

AR D | B, REIETE 2% (100g). TRBi4:
WIHRREE . B =% b e — 7, FEIZ L, L A2 iR .
FH—}

XERHEE 170—7 1FBEBRVTTIV., FRFOHICRYET,




HINERY V— &7
ﬁﬂ&ﬁ} — T fil6 R

—HFRI—R—

AT —%F 7, 7T00H
%

B, A—7, ¥4, 25 —%200g. 4R, 23—t —,
+

% REHET7 4L AT —F 9,500

A3, ¥7 X% 2A—7, A7—%180g, F4 R, 2—k—,
FF— b

F NYN—FEwy | 4,400H

IR, $¥7 4. A—=7, »nvr—F F4R, 2—k—,
FH—k

N XEREE 17— EESROTI . ERFREIR) £ /\‘
T T '

' | RN~ |
T, .- _l_-,:-‘- e - |'v.l kS . .. ‘.f -2, ‘}-‘:F < atl '- — . = . ‘F’ . \ . = "’..ﬁ .I;;"f?". _" = - :\ .Q".-‘ 5 : 3 g Y
\ . (g e : - ’ g ¥ . =T : R~ T LT
¥ { -
_ = i )

® N




2 % 78 [BRA-5-DHDTFHEEY FT.]
R (B74)

REsaoyvrlr 300m FERERIFRE 780 =
ER¥TH% 450m L—ILEADEEL 780m
754 FR5TF 580rm 9a0EHITF  880m
Frooyr- 600r #3239 880
#2VrF® 150 HIELSHT 1,000r
tAZVEIL 750 HIERHS 1,000m

axehsiEd 1, 100m  BRIL |,200m

Blr-toh  TREENY 7537

|, 200m 1,200



a i [BEA-T-DHDTFHEAYFT,)
H o saepl
EMBY bt 600 MREE4FTEHEE 3,850m

BERFr—Y2— 680m REFL2IL2I 3,850m
EIFY | 200 TEXERE l,350m
2R - %git - mW 350m REFO-2 (1009) 2,500k
BEI A 300m #NMEBZIEIB 1,200
REEO-2 FE-7 |,500n #N¥32E288 |,700=

ART72586:% (BF0A)], 750w




